Unit Five Test
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
____
1.
Why would an economist use real GDP rather than nominal GDP to measure growth?

	a.
	Real GDP calculates the GDP for a longer period of time.

	b.
	Real GDP uses current prices to measure the year’s output.

	c.
	Nominal GDP applies to only a small number of industries.

	d.
	Real GDP reflects output more accurately than nominal GDP by using constant prices.


____
2.
Which of the following economic activities does NOT illustrate the limitations of calculating GDP?

	a.
	nonmarket activities
	c.
	the underground economy

	b.
	negative externalities
	d.
	depreciation


____
3.
Four factors, both expected and unexpected, perpetuate the business cycle. Which of the following is NOT one of these factors?

	a.
	business investments
	c.
	stagflation

	b.
	interest rates and credit
	d.
	external shocks
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____
4.
What happened following the stock market crash in 1929 to account for the change in real GDP in the 1930s shown in this graph?

	a.
	During the Great Depression, overproduction of goods by factories led to layoffs and unemployment.

	b.
	During the Great Depression, factories were idle, and thousands of Americans lost their jobs and homes.

	c.
	A tax rebate miscalculated the elasticity of the market, and thousands lost money in stocks, lost their homes, and became unemployed.

	d.
	The rapid economic downturn did not recover until World War II, when the government boosted defense spending.


____
5.
Chris decided that this year she would put 25 percent of her income in savings and investments, an increase of 5 percent over the previous year. If a majority of people did this, how would the economy be affected?

	a.
	The economy would suffer because less money would be spent on goods and services.

	b.
	The economy would prosper because more investment funds would be available for businesses.

	c.
	There would be no effect because the same amount of money would enter the economy.

	d.
	The economy would suffer because the government would collect fewer income taxes.


____
6.
What source of economic growth is reflected in the economy by an increase in productivity without an increase in land, labor, or capital?

	a.
	technological progress
	c.
	population growth

	b.
	foreign trade
	d.
	savings and investment


	____
7.
Which one of these people lost his or her job because of structural unemployment?


	Jordan graduated from law school and is interviewing with various law firms.

	
	Thomas’s job as a landscaper is on hold until the spring.

	
	Sonya dropped out of school and now fails to meet the minimum requirements for her job.

	
	Eva lost her job at a major interior design firm during the recession in the 1980s.


	a.
	Jordan
	c.
	Sonya

	b.
	Thomas
	d.
	Eva


____
8.
According to the principle of cyclical unemployment, what will occur when the demand for goods and services drops during a recession?

	a.
	The business cycle resumes an upward trend.

	b.
	The demand for labor drops.

	c.
	The demand for labor rises.

	d.
	No frictional unemployment exists.


____
9.
Ten years ago, a house sold for $54,000. Today the same house is valued at $108,000. What has inflation done to consumers’ purchasing power?

	a.
	reduced it
	c.
	doubled it

	b.
	increased it
	d.
	stopped it


____
10.
If you lived on a fixed income, how would you be affected by inflation?

	a.
	You would be financially stressed because your income does not increase when prices go up.

	b.
	You would be hit hard because rising inflation would lower your rate of pay.

	c.
	You would benefit because you would have more purchasing power.

	d.
	There would be little effect because income is not tied to inflation.


____
11.
During the 1990s, the inflation and unemployment trends in the United States changed. What was unusual in the 1990s?

	a.
	Unemployment reached high levels, but inflation fell to less than five percent.

	b.
	Although inflation remained at less than three percent, unemployment fell to very low levels.

	c.
	Unemployment and inflation maintained the same ratio during the 1990s.

	d.
	Both unemployment and inflation rose to high levels.


____
12.
The poverty threshold, or poverty line, varies according to what?

	a.
	the census
	c.
	the size of the family

	b.
	nationwide income averages
	d.
	the inflation rate
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____
13.
What does the Lorenz Curve show about the distribution of income in 2001?

	a.
	The lowest 40 percent received 20 percent of total income.

	b.
	Two-fifths of households received 10.5 percent of income.

	c.
	The distribution of income was roughly equal.

	d.
	The distribution of income was not equal.


____
14.
What is the Consumer Price Index?

	a.
	a measure of prices of housing and rental costs all over the country

	b.
	an index of prices of items used by manufacturers and retailers

	c.
	an index determined by measuring the price of standard goods bought by urban consumers

	d.
	an index of the cost of living for all U.S. consumers


